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7 7 7.3 68.7 6142 H FR 43 47 16. 9] 73.1 121 (&8 ' 42 50 92! 16.9] 75.1

e T 41 39 801 10.9] 69.1 6261 | A= kit 48 42 90 16. 9] 73.1 12241 B 51 46 97| 21.8] 75.2
W =% B 36 43 79 9.7] 69.3 6367 |;kEH 48 42 90| 16.9] 73.1 12360 [mhil sk 48 49 97| 21. 8] 75.2
T BB LB 50 46 96| 26.6] 69.4 6401 |HP HEHF 39 39 78| 4.8] 73.2 12401 B &F 55 48] 103] 27.8] 75.2
56 |EE BTH 41 37 78] 8.5] 69.5 654 B3I FIT 53 481 101] 27.8] 73.2 12561 3R B+ 4 50 91| 15.7] 75.3
661  |TER T 41 36 77] 7.3 69.7 66h | =5 @8 39 44 83 9.7] 73.3 1260 |AH =i 46 45 91] 15.7] 75.3
M A BE— 38 38 76 6.0/ 70.0 676 |kH EHEE 44 39 83] 9.7 73.3 12761 |5t —EB 55 53] 108] 32.6] 75.4
[ERENEEES 50 42 92| 21.8] 70.2 684 &M AT 44 39 83] 9.7 73.3 12841 B8 &i— 45 39 84, 8.5 75.5
[FEEREE] 41 39 80/ 9.7] 70.3 6001 |91E M= 41 42 83] 9.7 73.3 1200 |[x FoF 42 42 84] 8.5 755
IREEES 42 44 86| 15.7] 70.3 06 |EE fR 45 38 83| 9.7 73.3 1300 [BEH =i 43 41 84] 8.5 75.5
ML | K& Al 45 41 86| 15.7] 70.3 "M |AE é 45 44 89| 15.7| 73.3 13141 |&2EBO & 47 43 90| 14.5| 75.5
IEES G 45 46 91| 20.5] 70.5 G EEES 46 43 89] 15.7] 73.3 13241 [l XEFEE 45 45 90; 14.5] 75.5
1360 |4 F— 49 47 96| 25.4| 70.6 73 | B2H B 39 38 77 3.6] 73.4 1331 (IR #B|BA 45 45 90| 14.5] 75.5
1461 =+ 5] 41 43 84| 13.3] 70.7 T4 |HH =E 46 42 88| 14.5| 73.5 13461 [T F ¥ 49 47 96| 20.5] 75.5
156 |&HE —8 44 46 90| 19.3] 70.7 756 [FHE ERE 44 44 88| 14.5] 73.5 135 [E {EE 50 51 101] 25.4] 75.6
1660 [KRJI HF 47 43 90| 19.3] 70.7 60 KB A 43 45 88| 14.5| 73.5 1366 |FR & 43 40 83, 7.3] 75.7
76 [Boa — 57 501 107] 36.3] 70.7 [T ED D 49 45 94| 20.5] 73.5 13760 [ & 41 42 83] 7.3] 75.7
183 |98 Eth 50 45 95| 24.2] 70. 8 7800 A M 43 51 94} 20.5| 73.5 13800 |PH =i 44 39 83 7.3 75.7
196 [BEH 5 41 42 83 12.1] 70.9 1960 8] BT 51 48 99! 25.4] 73.6 139y | BRA #®a 49 40 89] 13.3] 75.7
e SR 41 42 83| 12.1] 70.9 I EREINES:S 42 39 81| 7.3 73.7 140467 |AH EBF 49 511 100] 24.2| 75.8
A 45 38 83 12.1] 70.9 81 |KE Z=F 45 42 87| 13.3] 73.7 14141 (B &R— 44 44 88 12.1] 75.9
224 |OH &F 41 42 83| 12.1] 70.9 8200 |BH A= 39 48 87| 13.3] 73.7 1424 |fHEA &8 50 44 94} 18.1] 75.9
2360 122 E 46 43 89] 18.1] 70.9 83 |ma FH 44 43 87| 13.3] 73.7 14361 [/hfB —RK 54 45 99 23.0] 76.0
400 |EFR RZ 48 46 94| 23.0) 71.0 8461 WO EEk 46 41 87| 13.3] 73.7 14460 |giA B 52 47 99| 23.0/ 76.0
2 s HM— 51 491 100] 29.0] 71.0 851 |SI i 48 45 93] 19.3] 73.7 14560 [ RBTF BE 50 49 99| 23.0] 76.0
2600 B EH 51 491 100 29.0} 71.0 8641 RO iEF 49 44 93] 19.3] 73.7 14640 |BEIE B 46 41 87) 10.9] 76.1
T RS 55 561 111 40.0) 71.0 87H1 |ER 42 50 43 93] 19.3] 73.7 14761 LA & 44 43 87/ 10.9] 76.1
8% AR — 45 37 82| 10.9] 71.1 G AR EES 49 49 98] 24.2] 73.8 148461 |Hih B 47 40 87 10.9] 76.1
201 AP =H2 47 41 88| 16.9] 71.1 [ EE ] 44 42 86| 12.1] 73.9 14941 IJ\Tﬁ RE 41 46 87, 10.9] 76.1
T 41 46| 87| 15.7 71.3 W0 BA E= 44 42| 86 121 73.9 50 B85 %k 46] 41 87, 10.9] 76.1
31 [BIO HER 43 44 87| 15.7] 71.3 Jift (& BHE 46 46 92| 18.1] 73.9 15101 |EER TEXR 48 45 93] 16.9] 76.1
3260 |EBE TE 44 43 87! 15.7| 71.3 [ EES 48 44 92| 18.1) 73.9 15201 |mA S 55 b5 110] 33.8] 76.2
M1 8% HE 43 37 80/ 8.5 71.5 936 WO & 51 41 92| 18.1] 73.9 15347 1MW il 55 55 110] 33.8] 76.2
4 (AE = 42 44 86] 14.5] 71.5 946 |EH =FEIE 49 48 97| 23.0] 74.0 15440 | HE T|&= 53 56/ 109] 32.6] 76.4
3y RO 5—E 49 43 92| 20.5| 71.5 95fu |B% 1ECZ 49 48 97| 23.0] 740 1056 [WWAR —%& 54 55/ 109] 32.6] 76.4
L A BB 56 53] 109] 37.5] 71.5 9601 |F# #EBE 56 53] 109] 35.0] 74.0 15600 |{BEE B2 48 49 97, 20.5] 76.5
3 KRB —1 44 41 85| 13.3] 71.7 9741 |Eil 41 44 85 10.9] 74.1 15741 |IEE BY+F 49 48 97] 20.5] 76.5
38 [INEF ONEF 45 45 90| 18.1] 71.9 984 |1 #ﬂg 50 4 91 16.9] 74.1 15861 (H1E M 51 51) 102] 25.4| 76.6
KPR 4 40 43 83] 10.9] 72.1 9 |BEH HE 45 46 91| 16.9] 74.1 15961 |AIEF RS 60 3] 113] 36.3] 76.7
4060 [l BKE 41 36 77 4.8] 72.2 100 |[IA %= 45 46 91} 16.9] 74.1 16061 [/ARK Bl 57 44 101] 24.2) 76.8
416 A Biti 48 46 94| 21.8] 72.2 IEEEEE] 40 39 79] 4.8] 74.2 161 |BF BR¥ 51 56/ 107 30.2] 76.8
4260 |[IUAx FF 46 42 88| 15.7] 72.3 10260 [kl AFE 53 43 96 21.8] 74.2 1626 | ZEH §A 59 53] 112] 35.0] 77.0
4361 [dER 40 36 76! 3.6 72. 4 1030 5@ X=& 47 43 90| 15.7] 74.3 1636 [ B 51 48 99 21.8] 77.2
4461 B & 52 47 99| 26.6) 72. 4 1046 |&H X 47 48 95| 20.5] 74.5 16400 |BH K= 44 49 93] 15.7] 77.3
45f1 | EiE 47 46 93] 20.5] 72.5 1051 | K#8 B 48 47 95| 20.5] 74.5 16561 |25 5 50 43 93] 15.7] 77.3
4661 | &R EF 50 48 98] 25.4] 72.6 10600 | &5 =2 48 47 95 20.5] 74.5 1665L | AR mm) 47 45 92] 14.5] 77.5
AT Rk T 41 39 80| 7.3 72.7 10762 [/hk T8 47 48 95/ 20.5] 74.5 RETEES 50 42 92| 14.5/ 77.5
4841 H =5 41 39 80| 7.3| 72.7 1084 |HE ES 47 48 95/ 20.5 74.5 16841 [t B 48 50 98! 20.5] 77.5
4001 B BR 44 42 86 13.3! 72.7 1091 |RIB Zm 49 51 100) 25.4] 74.6 16961 /Ny B 49 49 98! 20.5] 77.5
5060 AT ZF 47 45 92| 19.3] 72.7 A EED) 43 39 821 7.3] 747 17061 | INEE Hﬁf; 52 51 103] 25.4] 77.6
51 | BRE E#E 45 47 92| 19.3] 72.7 1 |BE Bk 48 46 94| 19.3] 74.7 17141 |AH 46 45 91] 13.3] 77.7
54 | KT EETF 48 49 97| 24.2] 72.8 1124 |BX ZF 47 47 94! 19.3] 74.7 172461 | 881 ?‘Efﬁi 51 46 971 19.3| 77.7
5361 |[FR&T  FREA 42 43 85 12.1] 72. 9 13 & —4& 46 41 871 12.1] 74.9 17300 [(EA #@s8 47 43 90| 12.1] 77.9
5461 [ BA = 45 46 91} 18.1] 72.9 1145 |BA BB 51 42 93] 18.1] 74.9 1740 |A& Fi#h 45 45 90 12.1] 77.9
501 (O & 44 47 91) 18.1] 72.9 1156 |FAN 7% 49 49 98] 23.0] 75.0 17561 |&H/K IEE 45 45 90} 12.1] 77.9
56 |EKFAF ET 41 38 79) 6.0/ 73.0 1166 |he BX 50 48 98] 23.0] 75.0 17660 A L& 51 45 96 18.1] 77.9
5761 [FI &L 41 38 791 6.0/ 73.0 11761 |HE NEF 50 48 98! 23.0] 750 17761 |Bd H— 56 45| 101] 23.0] 78.0
584 ENIIESS 47 49 96| 23.0] 73.0 1180 |5 (=53 44 h4 98] 23. 0, 75.0 17841 |EEB HC 57 49 106 27.8] 78.2
5 (A ERA 43 41 841 10.9] 73.1 Nk |5F BEBH 53 57] 110] 35.0] 75.0 1792 [JIF 22 h3 53] 106 27.8| 78.2
60 [AH B|X 46 44 90| 16.9] 73.1 120462 [/hFY HFie 44 42 86| 10.9] 75.1 180fu |/ @ 58 54 112] 33.8] 78.2
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18141 25 4] 78.6
1820 |k S 53] 51| 104 25.4] 78.6
1830 |4 &7 52] 58] 110 31.4] 78.6
184 | A &1 48] 50/ 98] 19.3] 78.7
185 | =&l eif 56] 45| 101 21.8] 79.2
186fL | BB =i 55| 46| 101 21.8] 79.2
1876t |AH IF= 50] 45| 95 15.7) 79.3
1880 |NB =& 471 48] 95| 15.7) 79.3
189 |l =< 47] 501 97| 16.9] 80.1
006 | B+ 63] 56/ 119) 38 7/ 80.3
19151 |BF B~ 56/ 51| 107) 26.6| 80.4
10261 | AAE TmE 52] 54| 106] 25. 4] 80.6
1036 |HP B 53] 50 103 21.8] 81.2
1945 |5 IE8R 68] 571 125, 40.0] 850
N R [HE H= 54] 54| 17.0] 37.0
N R [OF B a7 9] 56 11.1] 44.9
N R |[SH% &= 44 9] 53 7.8] 452
N R I =2F 38] 31| 69] 2.5 665
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